

**Net Price** 

BROADSWORD Technical • Creative • Production

## Invoice

Customer	The Labour Party	Involce No Date	30/06/2016	
		Pages	1 of 4	
		Our Ref		
		Order No		
		Your Ref	State of the second second	
_	and the second sec	Terms	30 Days	
Contact	Bruce Teggart	Job Name		

## Qty Description

1	Barco PDS-902 3G Switcher	£285.00	£285.00
2	Kramer 1:4 DVI DA	£42.00	£84.00
2	65" HD Plasma Monitor	£350.00	£700.00
2	Plasma Remote	£0.00	£0.00
1	22" 16:9 LCD Monitor 1920 x 1080	£0.00	£0.00
1	5ft Trestle Table	£15.00	£15.00
2	Plasma Screen Stalk	£67.00	£134.00
2	Plasma Screen Stalk Base Cover	£0.00	£0.00
2	Plasma Screen Stalk Upright Cover	£0.00	£0.00
2	Bosch Drill	£0.00	£0.00
2	3.5m x 2m 3.9mm pitch LED wall with support	£3,250.00	£6,500.00
4	Audio Technica Dual Lectern Mic Kit	£32.00	£128.00
8	Audio Technica ES935ML Gooseneck Microphone	£0.00	£0.00
8	Desktop Microphone Stand	£0.00	00.03

R	eceiv	'ed		
20	JUL	2016		
<b>Finance Dept</b>				

List Price



5 4			
4	Shure QLXD1 Bodypack Transmitter	£0.00	£0.00
	Shure QLXD2/SM58 Handheld Transmitter	£0.00	£0.00
4	Shure QLXD2/SM58 Handheld Clip	£0.00	£0.00
1	Shure QLXD 5-Way Receiver Rack	£350.00	£350.00
5	Shure QLXD4 Receiver	£0.00	£0.00
1	Shure UA845 Antenna Distribution System	£0.00	£0.00
2	Shure UA874E UHF Active Directional Antenna	£0.00	£0.00
2	BNC -> BNC 50 Ohm RF Cable 10m	£0.00	£0.00
1	Microphone Stand – Round Base	£0.00	£0.00
1	Microphone Stand T-Bar	0.0 <u>3</u>	£0.00
4	Sennhesier EW300 G3 Hand Held Transmiter	£17.00	£68.00
4	Sennheiser Hand Held Clip	£0.00	£0.00
1	Sennheiser 4-Way Receiver Rack	£160.00	£160.00
2	Sennheiser Antenna Booster AB3 – GB	£0.00	£0.00
2	Sennheiser A1031-U Omni Antenna	£0.00	£0.00
1	Sennheiser Antenna Splitter ASA1	£0.00	£0.00
4	Sennheiser EW300 G3 Mains Receiver	£0.00	£0.00
1	BNC -> BNC 50 Ohm RF Cable 10m	£0.00	£0.00
1	BNC -> BNC 50 Ohm RF Cable 30m	£0.00	£0.00
1	Sennheiser NT1 PSU for ASP 1/2	£0.00	£0.00
1	Microphone Stand – Round Base	£0.00	£0.00
1	Microphone Stand T-Bar	£0.00	£0.00
1	Yamaha LS9-32 Digital Mixing Desk	£225.00	£225.00
10	d+b Q7 Speaker	£50.00	£500.00
3	d+b D12 Amplifier	£60.00	£180.00
5	Interspace Minijack DI Box	£15.00	£75.00
1	Drawmer DA-6 Press Feed DA	£42.00	£42.00
1	Apple iRig	£0.00	£0.00
1	Zoom MP3 Player / Recorder	£26.00	£26.00
1	Sennheiser HD201 Headphones	£6.00	£6.00
4	Microphone Boom Stand - Black	£6.00	£24.00
4	Shure Windshield	£0.00	£0.00
10	Speaker Tripod Stand - Black	£3.00	£30.00
8	Lectern Microphone Clamp	£0.00	£0.00
5	ASL Single Channel Beltpack	£6.00	£30.00
5	Beyer Dynamic DT280 Single Headset	£6.00	£30.00
1	ASL PS216 Dual Channel Comms Station	£37.00	£37.00
1	24 Way 50m Audio Multicore Cable	£58.00	£58.00
1	24 Way Stage Box 16M, 8F XLR	£0.00	£0.00
1	24 Way Multicore Tails 16F, 8M XLR 3m	£0.00	£0.00
	Stage Weight – 12.5kg	£0.00	£0.00
12	Truss lectern – new – delivery 21st June	£375.00	£1,500.00
12 4			£1,300.00

. .

5	Labour-Banner Stand - REMAIN	£0.00	£0.00
5 1	28' wide 11' high backdrop base cover only	£0.00 £420.00	£0.00 £420.00
4	11' x 4' returns in black	£103.75	£415.00
2	16' wide 8' deep 4' high LED wall support	£365.00	£730.00
1	500 Kg Ballast	£75.00	£75.00
3	Deleted-Labour - MIC FLAG (LABOUR IN FOR BRITAIN)	£0.00	£0.00
1	Corex Boards - Labour	£0.00	£0.00
200	Folding linked chairs	£11.88	£2,376.00
1	Tiered stage for seating	£705.00	£705.00
1	Stage with treads for lectern	£225.00	£225.00
2	Perspex Plinth	£0.00	£0.00
2	Glass Cleaner Kit	£0.00	£0.00
2	Manfrotto 3.4m Wind Up Stand with T-Bar	£42.00	£84.00
1	Truss structure – support for stage set	£410.00	£410.00
2	Truss structure – 10.6m x5.3m – banners	£600.00	£1,200.00
2	Lenovo Core i7 Windows 7 Laptop	£120.00	£240.00
2	Logitech RF Presenter	£0.00	£0.00
1	Apple Mac Book – Playback Pro Laptop	£210.00	£210.00
1	Logitech RF Presenter	£0.00	£0.00
1	DVI Parrot	£0.00	£0.00
1	100m DVI fibre	£50.00	£50.00
2	50m DVI Fibre	£30.00	£60.00
1	20m DVI Fibre	£20.00	£20.00
2	Sound Technician	£300.00	£600.00
1	Production Manager	£450.00	£450.00
1	Steeldeck and Ballast Transport	£650.00	£650.00
1	LED wall transport	£640.00	£640.00
2	Projection/Video Technician	£300.00	£600.00
4	Lighting Technician	£300.00	£1,200.00
6	Crew - 6 hour call	£150.00	£900.00
6	Crew - 3 hour call	£95.00	£570.00
2	Set Carpenter	£300.00	£600.00
1	Delivery & Collection – 18T Truck	£1,000.00	£1,000.00
4	Custom Panel - Black - screen surround - front	£60.00	£240.00
4	Custom Panel – Black – sceen surround – side	£80.00	£320.00
4	Mini French brace	£0.00	£0.00
1	Timber for rear clading of screens	£0.00	£0.00
2	6Kw HMI Fresnel Kit	£220.00	£440.00
10	ETC S4 Par CDM 150	£45.00	£450.00
1	75m powerlock to Distro board	£300.00	£300.00
1	1 6amp and 32amp power distribution	£150.00	£150.00
30	Cable ramp 1 m	£15.00	£450.00
1	Twin 150KVA generators – truck mount	£1,220.00	£1,220.00

ŝ

1

Notes:	<b>Tax Breakdown:</b> Zero Rated @ % = £0.00 VAT 20% @ 20% = £5,873.40	Sub Total Additionals Total Net Total Tax Total	£29,367.00 £0.00 £29,367.00 £5,873.40
		Grand Total	£35,240.40

## THANK YOU VERY MUCH FOR YOUR BUSINESS

## IMPORTANT NOTICE: PLEASE NOTE OUR NEW BANK DETAILS BELOW

Please send cheques to:-The Broadsword Production Group Ltd,

The Broadsword Production Group Ltd